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QUESTION 1

View the Exhibits and examine the structure of the COSTS and PROMOTIONS tables.

You want to display PROD IDS whose promotion cost is less than the highest cost PROD ID in a pro motion time
interval.

Examine this SQL statement:

Exhibit 1.

Exhibit 2.
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What will be the result?

A. It executes successfully but does not give the required result.

B. It gives an error because the ALL keyword is not valid.

C. It gives an error because the GROUP BY clause is not valid

D. It executes successfully and gives the required result.

Correct Answer: A

 

QUESTION 2

Which statement is true regarding the default behavior of the ORDER BY clause?

A. In a character sort, the values are case-sensitive.

B. NULL values are not considered at all by the sort operation.

C. Only those columns that are specified in the SELECT list can be used in the ORDER BY clause.

D. Numeric values are displayed from the maximum to the minimum value if they have decimal positions.

Correct Answer: A

 

QUESTION 3

Examine these statements and the result:
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Now examine this command:

What must replace MISSING CLAUSE for CUSTOMER_SEQ.NEXTVAL to return 11?

A. NOCACHE

B. INCREMENT BY 10

C. START WITH 11

D. MINVALUE 11

E. CYCLE 11

Correct Answer: B

 

QUESTION 4

Examine the data in the ENPLOYEES table:

Which statement will compute the total annual compensation tor each employee

A. SECECT last_namo, (menthy_salary + monthly_commission_pct) * 12 AS annual_comp FROM employees;

B. SELCECT last_namo, (monthly_salary * 12) + (monthly_commission_pct * 12) AS annual_comp FROM employees

C. SELCECT last_namo, (monthly_salary * 12) + (menthy_salary * 12 * NVL (monthly_commission_pct, 0)) AS
annual_comp FROM employees

D. SELCECT last_namo, (monthly_salary * 12) + (menthy_salary * 12 * monthly_commission_pct) AS annual_comp
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FROM employees

Correct Answer: C

 

QUESTION 5

Examine the description of the EMPLOYEES table:

NLS_DATE FORMAT is DD-MON-RR.

Which two queries will execute successfully?

A. SELECT dept_ id, AVG (MAX(salary)) FROM employees GROUP By dept_id HAVING hire_date> \\' O1-JAN-19\\';

B. SELECT dept_ id, AVG(MAX(salary)) FROM employees GROUP BY dept_id, salary;

C. SELECT dept id, MAX (SUM(salary)) FROM employees GROUP BY dept_id;

D. SELECT dept_ iD, sum(salary) FROM employees WHERE hire_date > \\'01-JAN-9\\' GROUP BY dept_id;

E. SELECT AVG(MAX(salary)) FROM employees GROUP BY salary;

Correct Answer: DE
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